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Relação do aço

V1 V2 V3

V4 V5 V6

V7 V8

AÇO N DIAM

(mm)

QUANT
C.UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 2 234 468

2 5.0 62 386 23932

3 5.0 60 86 5160

4 5.0 90 66 5940

CA50 5 6.3 22 CORR 15290

6 6.3 44 453 19932

11 8.0 6 445 2670

12 8.0 6 477 2862

13 10.0 8 86 688

14 10.0 12 464 5568

15 12.5 3 604 1812

16 12.5 9 695 6255

18 12.5 9 868 7812

19 12.5 8 511 4088

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

6.3

8.0

10.0

12.5

5.0

352.3

111.5

62.6

199.7

355

94.8

48.4

42.4

219.6

60.2

PESO TOTAL

(kg)

CA50

CA60

405

60.2

Volume de concreto (C-30) = 6.01 m³

Área de forma = 86.67 m²
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Relação do aço

4xP1 5xP2

AÇO N DIAM

(mm)

QUANT
C.UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 52 166 8632

2 5.0 104 21 2184

3 5.0 65 66 4290

CA50 4 10.0 52 VAR VAR

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

5.0

82.7

151.1

56.1

25.6

PESO TOTAL

(kg)

CA50

CA60

56.1

25.6

Volume de concreto (C-30) = 1.06 m³

Área de forma = 18.15 m²

































 
 





